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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following as directed :
1x10=10

frotrE@ we fwrmm oA R @I woR
Wﬁ‘{ﬂ:
(a) Mathematical method is deductive/ inductive.

( Choose the correct answer )

M “mafS fAaamme /S |
( % Taach A Sferear )
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(3)

(2)
(b) In Descartes’ philosophy, matter is extension () In which book, John Locke refuted
without o Descartes’ ‘Innate Idea'?
( Fill in the blank ) Lok Ne pup Rttty i CRIEE e
o7 IR ?
cea e w tae AR R
(0 &2 T (g) George Berkeley’'s aim is to establish
materialism/immaterialism in philosophy.
(c) Spinoza is the advocate of abstract/concrete ( Choose the correct answer )
monism. WS IR T (R TS /T
( Choose the correct answer ) AfSST 37 1 _
P e Ry /d WS a1 | (o= e MR Sferea )
(0w et AR Sfear ) : .
(h) Name the theory regarding the relation
between mind and body as put forward by
(d) Did Spinoza admit Descartes’ concept of Descartes?
‘relative substance'? CSICH ISRTGRT T WF (723 T oo~ R
PoraTely (e SR T'T A TR TEIOA T ford |
verfiens 2
(i) What is the meaning of the word ‘Solus’?
(S l ’
(e) “Substance is spiritual and many” which plus™SeR Ry R
rationalist hilosopher  accepted  this :
statement? g’ P : () Name the ecmpiricist philosopher whose
philosophy represents scepticism.
“Ey wgiie wWE A’ @ A @
1) R TR 7 wRuerfl wRver W i | wf=
‘ MRATA ARy w23 )
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(4)

(k) is windowless.
( Fill in the blank )

RS
(¥4 31 o[ 40 )

() “Synthetic a priori judgement is possible”.
Who made this statement?

‘TS SRR I T’ | AR
QI feE 2

(m) Immanuel Kant admits 6/10/12 categories.

( Choose the correct answer )

m IO b/%0/353 B WEY oo o

Cefeet |
(0% T=h AR Sfeyear )
(n) Time is ____ dimensional.
( Fill in the blank )
@ ____ e
(0 &t o %1 )
A23/19
/199 ( Continued )

(o)

(p)

(q)

(r)

A23/199

(5)

Hegel/Kant/Berkeley is the advocate of
Absolute Idcalism,
( Choose the correct answer )

51 /3T /AR 1AW SR 93BT |
( o Teach! Aft e )

The Phenomenology of Spirit is written by
Hume/Hegel.
( Choosc the correct answer )

%/ cxoes The Phenomenology of Spirit
o1 R |
(% Taeh! Ak Sferean )

Write a difference between psychological
doubt and philosophical doubt of Descartes.

IR TERRERE oW WE W end
AT o1 el &4 |

Locke/Kant introduced the distinction
between primary and secondary quality.
( Choose the correct answer )

I/IT0 @ YW @ WEF (NIBR THS AR
At pffeE |
( ow Tah AR Tforear )
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(6) : (7)

2. Answer any five from the following questions : (f)  'What is ‘solipsism'?

2x5=10 |
were T iR /T R e b e ; TR’

{a) Mention two rules for ‘self-direction’ as laid
down by Descartes,

IR SeeR w0 w-Reeer B R A wpRa S PReM e fi )
TN 0

(g) Define causality following Hume,

(h) Why is Kant's cpistemological standpoint
called ‘Copernican Revolution’?

0T WEINCT R Ry Fomfier R’
T =

{b) Write two basic characteristics of ‘Cogito’.

‘Cogito’3 o (N =1 fon |

(c) What is ‘Causa sui’ ? Explain.

‘Causa sui’ &2 IMm 1 |
(i) 'What is the relation of Thought and Reality in

Hegel's philosophy?

(d) What is the meaning of Natura Naturata as

understood by Spinoza? | R TS o1 W STaR Fork R 2
fRvzarety 3T&R1 Natura Naturata 3 99 f 9 l
§ (i) Whatis ‘Pure Intuition’ in Kant's philosophy?
(¢) Give the definition of ‘Simple Idea’ given by | BT TS ‘Rew S’ R 2 |
John Locke. ‘
G WS WIRIGR S 4O Sive) Ry |
A23/199 ( Continued ) l 35/ 199 { Tum Over)
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(8)

3. Write notes on any four of the following : 5%x4=20

wee HIRRR R @ SIR0R o (o fodt

(a)

(b)

{c)

(d)

(e)

(N

A23/199

Descartes’ theory of substance

SRR R &%

‘Modes’ in Spinoza’s philosophy
Pooarer s ‘ofw’
Pre-established harmony

R -efee JERm

‘Esse est percipi’

‘g ers e’
‘Reflection’ in Locke's philosophy

%2 wie “THfoeR’

Kant’s problem of knowledge

TG WA T

( Continued )

S T . T T

o ————

(9)

(g) Hegel’s view of ‘master-slave dichotomy’

R “FR-ur1 Ry’

(h) Hume’s theory of ‘soul substance’
R ‘o 73’1 vy

4. Answer any four of the following questions :

10x4=40

wors fall 2P e v T o

(a) Explain Descartes’ dictum ‘cogito, ergo sum’.

(b)

(c)

A23/199

Is it an inference? Discuss.

(SFI63 ‘cogito, ergo sum’ @ A FA R

G A 2 A 4 |

Explain Descartes’ philosophical method and
bring out its importance.

IR wffe e T T T TR 5w

HRAR Ty |
How does Spinoza conceive the
relation between Substance and Attribute?
Discuss.
9 HF @R e PReigarand R @ ey,
SCEA®AT 41 1

( Turn Quer )
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( 10 ) (11 )

(d) Explain Spinoza's conception of substance. ."'7 Explain the Kantian view of Space and Time.

How did he explain the relation of God, -
Substance and Nature? F T I TS 10 7911

PIFER ¥U-9% AET T @8 ¥®, TI

T A o (T 0 FREA ? () Give an appraisal of Hegel's dialectical

method.

(e) Explain Leibniz’s doctrine of monads..What T T e a |
are the inconsistencies in the conception of LI SISTICeH
monad theory?

AIRER TS TGl (B e@wq @) I T
e Bge & & el ¢ w2

* %k %k

(f) Explain Locke’s arguments against Descartes
doctrine of Innate Ideas.

(SIH7 TTES RN-TG] [ReFra FF R
Rz A 41|

(g) Examine the theory of subjective idealism of

Berkeley.
IR SIS SIRAM TSATC6! 43Tl 47 |

(h) Give a critical exposition of Hume’s view of
knowledge of the external world.

MY ISR @ T A T9q g9
SACATGATAS AN G |
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